ansgrohe

AN Instructions for use / Assembly instructions 2
B3 Gebrauchsanleitung / Montageanleitung 2

<

i)

Focus M41 Focus M41
260 1jet 280 ljet
31820XX3 31817XX3
31866XX9 31873XX9

O
o

MySport L 1jet Ecos L ljet
13862003 14816003




[T] English

Deutsch

Safety Notes

A\ Gloves should be worn during installation to prevent
crushing and cutting injuries.
A\ The hot and cold supplies must be of equal pressures.

Installation Instructions

* Prior to installation, inspect the product for transport
damages. After it has been installed, no transport or
surface damage will be honoured.

* The pipes and the fixture must be installed, flushed
and tested as per the applicable standards.

* The plumbing codes applicable in the respective
countries must be observed.

Technical Data

Operating pressure: max. 1 MPa
Recommended operating pressure: 0,1-0,5 MPa
Test pressure: 1,6 MPa

(1 MPa = 10 bar = 147 PSI)
Hot water temperature: max. 60°C
Thermal disinfection: 70°C / 4 min

The product is exclusively designed for drinking water!

Symbol description

,\}\f Do not use silicone containing acetic acid!

p@ Adjustment (see page fl)

To adjust the hot water limiter. Using a hot water limiter in
combination with a continuous flow water heater is not
recommended.

[‘M%\ Dimensions (see page fl)
Flow diagram (see page [}

Spare parts (see page E)
XX = Colors

00 = Chrome Plated

14 = Brushed Bronze

34 = Brushed Black Chrome
67 Matt Black

@ Cleaning (see page fl)

@\ Operation (see page fl)

Hansgrohe recommends not to use as drinking water the
first half liter of water drawn in the morning or after a
prolonged period of non-use.

‘e

Assembly
2 (see page ) ==

Sicherheitshinweise

/A Bei der Montage missen zur Vermeidung von
Quetsch- und Schnittverletzungen Handschuhe
getragen werden.

I\ GroBe Druckunterschiede zwischen den Kalt- und
Warmwasseranschliissen misssen ausgeglichen
werden.

Montagehinweise

* Vor der Montage muss das Produkt auf Transportsché-
den untersucht werden. Nach dem Einbau werden
keine Transport- oder Oberfléchenschéden anerkannt.

* Die Leitungen und die Armatur missen nach den
giiltigen Normen montiert, gespiilt und geprijft werden.

* Die in den Landern jeweils giltigen Installationsricht-
linien sind einzuhalten.

Technische Daten

Betriebsdruck: max. 1 MPa
Empfohlener Betriebsdruck: 0,1-0,5 MPa
Prisfdruck: 1,6 MPa

(1 MPa = 10 bar = 147 PS)
HeiBwassertemperatur: max. 60°C
Thermische Desinfektion: 70°C / 4 min

Das Produkt ist ausschlieBlich fir Trinkwasser konzipiert!

Symbolerklérung
in Kein essigsdurehaltiges Silikon verwenden!

@ Justierung (siehe Seite )

Einstellen der Warmwasserbegrenzung. In Verbindung
mit Durchlauferhitzern ist eine Warmwassersperre nicht
zu empfehlen.

LM%\ MaBe (siche Seite E)

Durchflussdiagramm (siche Seite )

Serviceteile (siche Seite E)
XX = Farbcodierung

00 = Chrom

14 = Brushed Bronze

34 = Brushed Black Chrome

67 Mattschwarz

@ Reinigung (siche Seite f])

b, Bedienung (siehe Seite B

Hansgrohe empfiehlt, morgens oder nach léingeren
Stagnationszeiten den ersten halben Liter nicht als
Trinkwasser zu verwenden.

‘@q

Montage
(siehe Seite E) =






\———————————

St

=







if

> 2 min

C

\ @@ﬂ

<

%

A @@ﬁ?

3
N

% .




8%




&

ww.hansgrohe.com/cleaning-recommendation

[HY Cleaning recommendation / Warranty / Contact [3 Reinigungsempfehlung / Garantie / Kontakt

B

MySport L 1jet 13862003

open / ffnen open / ffnen close / schliefben hot / warm cold / kalt

Focus M41 260 1jet 31866XX9/ Focus M41 260 1jet 31820XX3 /
Focus M41 280 1jet 31817XX3 / 31873XX9 / Ecos L Tjet 14816003

8%

open / &ffnen cold / kalt close / schlieben hot / warm

©o


http://www.hansgrohe.com/cleaning-recommendation

Focus M41 280 1jet
31817XX3 / 31873XX9

237 ——>

¢ 277

@ 25

<
<

222

277 ———>

<“— 90 —»|

»
gl

max. 70

Focus M41 260 ljet
31820XX3 / 31866XX9

)

877/ — P4¢————————— 338 —————p|



W

MySport L 1jet Ecos L ljet
13862003 14816003

|

Q
N
33

577

577 — pe———— 332 )
255

0)
h)

— 106 — 110
92 —»

10



Focus M41 280 1jet 31873XX9 Focus M41 260 1jet 31866XX9

0,60 6,0 0,60 6,0
0,55 55 0,55 55
0,50 50 0,50 50
0,45 45 0,45 45
0,40 4,0 0,40 4,0
, 035 35 , 035 35
S 030 3028 S 030 308
0,25 2,5 0,25 2,5
0,20 2,0 0,20 2,0
0151 15 015 15
0,10 1,0 0,10 10
0,05 / 05 0,05 / 05
0,00+ 0,0 0,00 ¥+ 0,0
Q=I/min0 3 6 9 12 15 18 21 24 27 30 Q=I/mn0 3 6 9 12 15 18 21 24 27 30
Q=l/secO 01 02 03 04 05 Q=l/secO 01 02 03 04 05
Focus M41 280 1jet 31817XX3 MySport L Tjet 13862003

Focus M41 260 1jet 31820XX3
Ecos L Tjet 14816003

0,60 6,0
0,55 55
0,50 5,0
0,45 4,5
0,40 [ 4,0
. 035 [ 35
S 030 7 3028
0,25 i 25 8’22 | 2’?
h
0,20 . 2,0 ' [©) '
015 15 0,50 +— 0 50
0,10 . 10 0,45 4,5
' V| ' 0,40 4,0
0,05 . 0,5 d ’
000 ' 00 L 035 35
' ! < 030 308
Q=l/mn0 3 6 9 12 15 18 21 24 27 30 = 025 i s
Q=1/sec 0 o1 02 03 04 05 ' \ !
0,20 i 2,0
7
0,15 & 15
B ;:
0,00 - 0,0

Q=I/min0 3 6 9 12 15 18 21 24 27 30
Q=I/sec O 0,1 0,2 0,3 0,4 0,5



‘@q

MySportL 1jet

13862003
92718000
92223000 92865000 96338000
(M22x1-  \&
7 1 / min)
9]85‘:)%6000 @ 98193000 ©
(150°) 95140000 (32x2) N\
(M4x20) ‘
~ SW 4 mm
92646000 98189000 Q \
< 95498000
63 97209000
(M37x1,5)
@ SW 30 mm
98422000 /@
(7x1,5) !
98749000
(43x34x3)
92482000 97523000
(600 mm) 97548000
SW 24 mm
95049000
)

12




Ecos L ljet
14816003

98532000

b

96338000

95822000 94010000 =
(M22x1 -7 |/min)
98486000 @ )
(110° / 150°) @ )
\\ ~—r (

(] 98193000
© =) (32x2) @

o 95140000

92646000 (S”\’/‘V“ZQO) e 95498000
mm ¢ 97209000
© 95008000 & (M37x1.5)
SW 30 mm

98422000/§

(7x1,5)

— 97523000
92482000 97548000
(600 mm)
SW 24 mm

95049000

&

13



‘@q

Focus M41 280 jet

31817XX3
98460000
98489000
96673000 96338000
98486000 (M18x1 -7%
(110° / 150°) -
—
=) °
e 98193000
92646000 95140000  (32x2)
€3 (M4x20) N
@ SW 4 mm \
28189000 95498000
(14x2,5)
97209000
97662000 a (M37x1,5) .
97558000 — SW 30 mm Focus M41 280 jet
31873XX9
$8422000 % 98489XX0
(7x1,5) &b
98460XX0
92716XX0
(M18x1 - 3,8 |/min)
SW 17 mm
98749000
$2482000 (43x34x3) -,
(600 mm) 96338000 —®
el 98193000 N\
95140000  (32x2)
(M4x20) S '
97548000 SW 4 mm \\
R
/95049000 £3 N\ 95498XX0
] \ & 97209000
¢ (M37x1,5)
) ~— SW 30 mm
@ il I 95646000
-

14



Focus M41 260 1jet

31820XX3
98532000
95822000 96338000
94010000
(M22x1 -7 |/min)
98486000 @
N—
=) 95140000 98193000 \
© o M4x20) (32x2)
SW 4 mm 95498000
92646000 97209000
© 95008000 ¢ (M37x1,5)
97662000 AN SW 30 mm

97558000 A
98422000 \

(7x1,5) §%
~ 92730000
92482000 98749000
(600 mm) (43x34x3)
SW 24 mm
—97523000
97548000
95049000

Focus M41 2601 jet
31866XX9

95822XX0
98532XX0

96338000

1,9 1/min)

\

(M24x]1 -

~— 98193000 @
95140000 (32x2) ‘
(Mx20)
(4x20) 95498XXO
97209000
95008000 (M37x1,5)
SW 30 mm

95646000

15



Hansgrohe - AvestraBle 5 - 9 - D-77761 Schiltach - Telefon +49 (0) 78 36/51-1282 - Telefax +49 (0) 7836/511440
E-Mail: info@hansgrohe.com - Internet: www.hansgrohe.com

06/2023
9.09726.67



	English
	Deutsch

